XFRE. AT DR E ) #E
1. ROKXZ=RBAFEE Lo
1) a+ab+b+1 (2) abc—ab—bc—ca+a+b+c-1

(3) a?b+ab? +b?c+bc? + c?a + ca* + 2abc (4) a’(b+c)+b*(c+a)+c?*(a+Db)+3abc

2. ROK =R T Ko
(1) a—ab-b+1 (2) a’(b-c)+b*(c—a)+c*(a-b)

(3) a*(b-c)+b3(c—a)+c3@a-b)

3. ROz AN EE Ko
(1) a®+b3+c3-3abc (a®+b® =(a+b)®-3aba+b) THHDIEZRAWTERL, )

(2) a®-3ab+b>+1

(3) a®+2b? - 3ab?
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M. RNKOERHK B #EE

1.

1) ab+a+b+1 (2) abc—ab—bc—ca+a+b+c-1
=b+1a+(b+1) =abc—ab-ca+a-bc+b+c-1
=@+1)0b+1) =((bc-b-c+1)a—(bc-b—-c+1)

=@-1)(bc-b-c+1)
= (a-1{blc-1)=(c-1)}
=@-1)0b-1)(c-1)

(3) a?b+ab? +b%c +bc? + c?a + ca® + 2abc (4) a’(b+c)+Db?*(c+a)+c*(a+Db)+3abc
= a°b + ca® + ab® + 2abc + ca + b*c + bc? = (b +c)a® + b*c+b%a+c?a+bc? + 3abc
= (b+c)a® + (b% + 2bc + c?)a + b*c + bc? = (b+c)a® + (b% + c% + 3bc)a + be(b + ¢)
= (b+c)a®+(b+c)?a+beb+c) ={a+(b+c)H{(b+c)a+bc}
:(b+c){a2+(b+c)a+bc} = (a+ b+ c)(ab + bc + ca)
=((b+c)a+b)(a+rc)
=(@+b)(b+c)c+a)

2.

(1) a-ab-b+1 (2) a?(b—c)+b*(c—a)+c*(a-b)

(1-b)a+(1-b)
(@a-1)(1-b)
—(@-1)(b-1)

(b—c)a® +b*c—b%a + c®a—bc?
(b—c)a? - (b? - c?)a + b?c — bc?
(b—c)a?—(b+c)(b—-c)a+bc(b-rc)
=(b- c){ (b+ca+bc}

(b—c)a-b)a—c)
—(a-b)(b-c)(c—a)

(3) a*(b—c)+b3(c—a)+c3(a-b)
=(b-c)a®+b3c-b2a+cda-bc?
= (b-c)a® - (b® - c®)a + be(b? - c?)
= (b-c)a® - (b-c)(b?+bc+c?)a+be(b+c)b-c)
= (b-0{a> ~ (B +be + Aa + be(b - o)}

=b- c){(c —a)b?> —c(c-a)b—a(c+a)(c— a)}

(=) -m){b? ~be-a(c+a)}

(b-c)c—a)b—a)(b+c+a)
—(a-b)(b—-c)(c—a)a+b+c)
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3.

(1) a®+b3+c3-3abc
= (a® +b%) + % - 3abc
= (a+b)®—3ab(a + b) + ¢ - 3abc
=(@+b)3+c®-3aba+b+c)
= {@+b)+cl{@+b)*~@+b)c+c*} -3aba+b+0)

= (a+b+c)(a® +2ab+b? —ac - bc + c? — 3ab)
=(a+b+c)(a®+b%>+c?—ab-bc—ca)

(2) a®-3ab+b>+1
=a®+b>+1%-3ab-1
=(@+b+1)@>+b*>+1%2-ab-b-1-1-0)
=(@+b+1)@>+b*>-ab-b-a+1)

(3) a3 +2b3-3ab?
=a®+b>+b°-3ab-b
— (@+b+b)(@®+b>+b>—ab—b-b—ba)
= (a+ 2b)(a? + b? — 2ab)
= (a+2b)(a-b)?
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